Algebra Initiative (Depaul) Winter Quarter 09: Homework 4 due Feb. 2, 2009

1.
The equation  
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  describes a straight line L.  Write down equations for other straight lines that satisfy the following:


a.  A straight line that is parallel to L.


b.
A straight line that intersects L in the point  (x,y) = (1,2).  


c.
A straight line that has more than one intersection point with L.
2.
Find all x that satisfy the inequality below.  In each case, make a sketch of the solution set on a number line.
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c.
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3.  Carefully sketch on graph paper the solution regions to the following systems of inequalities.  You may use your calculator.
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b. 
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4. Bob builds tool sheds. He uses 10 sheets of dry wall and 15 studs for a small shed and 15 sheets of dry wall and 45 studs for a large shed. He has available 60 sheets of dry wall and 135 studs. If Bob makes $390 profit on a small shed and $520 on a large shed, how many of each type of building should Bob build to maximize his profit?

(This will require you to set up 4 linear inequalities and find the solution. Then evaluate the profit function at 4 points.)
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